Unit 8 Lesson 4 Homework and Review

1. Rational exponents can be re-written as radicals! Index
Exponent
Iggadical form, bisthe_dex . a /
. e Yy xB &% ® =0
In exponential form, b is the Chomina of the exponent. r
In radical form, a is the [:X DO CVﬁ:
| Radical Radicand
In exponential form, a is the [\ U TV () Tor of the exponent. symbol
I

2. Given the expression V54, wtite an expression utilizing a rational exponent that would yield the same numerical value.

(5,_’)’/5

3. Rewrite each expression with a rational exponent.

a. (i/@)l/s_ b.Y127% c. (3\/—25): d. (@5
(:3) (2= (00t (-25)™ (2x )
e. (3,/—7x2y)2 f. V/9x g. 3/ (5xy)? £ 9(Vx®)

P [ax)™ (Sxy) [PK

4. Rewrite each expression in radical form.

a (=57)3 b. 13 ; c. (2045)s d (3%)7 ‘l
=) (175) (it ) (/2

e. (3%)%5 £ (—27x3y): T g (03 h. 8(x)s
(2x)%2

Nz (SFoy)” \7x sUx)

5. Solve each square root equation. Be sure to check for extraneous solutions.

" \/9a-i-l-3=\/4a-|-7 b, %=\/x+16+2'
2 - = JdXHo
AR T SERT gag
a :‘-’(/g— XT'C]
c. xx=2«/121—x d —x=+vx+20
]| 27 x> = X470
A% o9) =0 ?9€ XZ X =26 =0 149
e (Kx’iq,(qxgg i | (K=5)}x44) =0
e. Desmos: V6x+19=2+x f)%esmos ;’CLi 4 =+/10 - 3x
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6. Write the equation that represents the transformations from the parent graphy = Vx.

a. Translated 4 units up, vertical compression by a scale factor of 2/3, and reflected over the x-axis.

\12 ;2/3\]—?‘ =

b. Translated left 3 units, vertical stretch by a scale factor of 4, down 6 units.

YJX+2 =L

7. Use the graph provided to identify key features of the function.

y=vx+1-2 Etv
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Transformations: L(’ ( ) d oW 2
Anchor Point: (i [~ 2 )

X-Intercept: ( 2 10)

Y- Intercept: ‘ “, -1)

Maximum of MinimumYCircle)

Domain: X=>— v ~,2)
Range: sﬁf -2 o [-2,e00
Increasing: X2 »(—- 5 )
Decreasing: MLK

8. Use Desmos to graph each function and identify the key features.

a. y=—/x+1

Turimsformation(s): E_Q‘H cct over X —axis,
(

<
(== :]
y — intercept:

Bt/

[Epmam X220 Range: \j

X == mtercept:

(0)
c. y=5+%\/x—2

TransformaUOn(s) Veviscal Vess l e
Jaf'tuhvo{ ", R,qjhf 2, 5"

Domain: X 2 2. Ranﬁ.
St

[z, e0)
x — intercept: y — intercept:
None None

b. y=2vVx+3

Transformation(s): Vevti cal STretch Lrvl
O factnvof 2, lcft 3.

Domain: X = — 4 Range: ? AR
(-3,) Lo , >
X — intercept: y — intercept:
(=310) (0,246

d y=vx-1-4
Transforrnation(s): R j Wt i y dUWlﬂ‘i‘

Domain: A > | Range:cj z —:Ll
Ci,e) Fy, <)

x — intercept: y — intercept:
(17:0) hono
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